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Math 61 Spring 2006 Name: -

TEST #2 @ 130 points

Write in a neat and organized fashion. Use a straightedge and compass for your drawings.

1. i) Write the congruences given by the indicated measures or marks.
ii) State whether from the given congruences only you may conclude that triangles I and II are congruent.
iii) If so, write what case of congruency applies.
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2. a) State whether al ~al] .
b) If so, write what case of similarity applies.
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a) Answers the following:

i) Complete the following statement:

A median of a triangle is -M( 0‘6’91«01/ ‘/&a # /0/4£ one Vorrex M//% 7‘4’,
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ii) Make a drawing to represent the above statement.
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iii) Translate the statement mathematically.
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b) Answers the following:

i) Complete the following statement:

An altitude of a triangle is 7%e €:ne v‘f?’uff"ﬁl /ﬁom one Verrex /é(’//érﬂa.’l ceela /
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ii) Make a drawing to illustrate the above statement
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iii) Translate the statement mathematically.
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¢) Answers the following:

i) Complete the following statement:

A perpendicular bisector of a side of a triangle is Fhe &re Hhat /s rpLs e Mq‘/.
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ii) Make a drawing to illustrate the above statement. # L

iii) Translate the statement mathematically.
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d) Answer the following:
What do you know about the altitude to the hypotenuse in a right triangle?

1) Complete the following statements:
Seunta - triangles.

The altitude divides the right triangle into two

Each of these two triangles is also similar to ’%/“ ‘3" rea 7574 ”LO/L‘ :

ii) Make a drawing to illustrate the above statement.
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iii) Translate each of the above statements mathematically.
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EFGH is a parallelogram. Suppose that EH = 6, EF = 9, and m<E =102°.
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5) In a trapezoid, the length of one base is 7x + 5, while the length of the other base is 4x -2.
The length of the median is given by 5x+3. Find x.
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6) Given aTCA ~aGDO, m£D=96", m£A =48, GD=24cm, TC =18, CA=140, GO =32 cue
Find m£G ,T4, and DO.
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7) Given a rectangle ABCD with diagonals AC and BD, m/ACD = 3(° , let M be the intersection of the
diagonals. Find 4D, AC, and MC.
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8) Draw a figure and write the hypothesis and conclusion. Mark the figure and write a formal proof.

If both pairs of opposite sides of a quadrilateral are congruent, then the quadrilateral is a parallelogram
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9) Draw a figure and write the hypothesis and conclusion. Mark the figure and write a form‘alf proof.

In a triangle, if an angle bisector is an altitude, then it is also a median.
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Extra Credit

Find the area of an equilateral triangle of side a
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